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Answer either in English or in Assamese

( APPLIED STATISTICS )

1. Answer the following as directeq : 1x7=7
Wt fraead et S O iy
(@) In general, L2SPeyres’ price index
number is —— Han Paasche’s price
index number-

( Fill in the blank )

SuRece, @GN T s ot W
RS ——
( <R 572 =01 1 )
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(b)

(c)

(@)

8A/847

.

(2)

The seasonal variations of a time series
occur
TR Fgafie fRadT ¢ ¢TI T
(i) within a month
o1 1Y Feqw
(ﬁ) within a week
Bl T foeqe
(ii) within a year
<1 779 g
(iv) within a day

<01 9 e

( Choose the correct answer )

(@Fﬁmaﬁ%ﬁ@)

What is hypothetjcal population?
2I31S TR f5 9

In a particular period’ cost of living
index number is found to be 150 and
money wage of , worker is ¥ 9,000.
What will be the worker’s real wage at
that period?

T O iR g Gt AR T PRI

150 % qu wfeq §@ TG € 9,000.
AT O 1 grqrs 13 A 272

( Continued )

(e)

(g)

8A/847

(3)

If the origin in 2 trend line equation is
shifted forward by three years, X in the
equation Y =a+bX will be replaced by
it e Cafe TS SWRmew g7 R 3 9=
w33k il W, ¥ =a+bX <ae X &
z'q

0 1y
3
L 5o
3
(i) X+3
X+33°[
(ii) X -3
X-33°[
(iv) None of the above
@of7q «or8 A
( Choose the correct answer )
(o7 Twach iz Bt )
What does Lx €olumn of the life table
represent?
i oI L TSR R o7 9

Non-sampling €7TOTs are present both in
census SUrveYS as well a5 sample

surveys. ;
( Write True or False )

iz 25° 9 efen! Gy zes R
s ST 21 i
(wm G oy fora )

( Turn Over )




2. Give = short answers of the following (b) Write the advantages of sample survey
questions : 2%x4=8 over complete enumeration. 5
oo il SRPRE oy S i - sopf s e A wShw s
(a) Mention the components of a time foram 1

Series. e
FECAR Colopz q1 ST TH TR
F01 () From the chain base index (CBI)
: pln s numbers given below, find fixed base
(b) ?iltztolsamgant by de;seasonahzatlon of index (FBI) numbers : 5
me series:
TR Agefy ceadde 0 T vt i RS PR (CBI) o
@ ? frafefs e (FBD) Refy <oy -
() What is . significance of Net Year : 1975 1976 1977 1978 1979
Reproductjoy, Rate (NRR) =1? =
% AT 2R (NRR)=17 ey 762 cer ;80 110 120 g9 140
(d) Index economic
baromete e o (d) Calculate trend Values using 4 yearly-
TS, Ex'plaln- mOVlng average for the time SerieS given
WW@WWHWWIWWW| below : S

3. Answer ANy  three from the following ool wﬁzﬂ%ﬁ N 4 3 v AT
questions - 5x3=15 e 3R ST T ey 4y
TS Wﬁmﬁm%ﬁmw%@iﬁmi R
(@) What is index number? Year . 2008 200 011 2012 2013 2014 2015 2016

Cost of living ! ' I5q
Mention j 2+3=5
i o STises, Production(kg) : 506 62 '°°° 673 s88 696 1116 738 663
iz W PoIT &7 WH FRIR S (fRer)
E'Cﬂ'*’l 97
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(6) (7))

(e) Define : 3+1+1=5 (c) () What precautions should be taken
A fore to select the base period to construct
(i) Populatign an index number? 4
T 0 T SR oy e
() Parameter f & TRYFTO ST R gy o
Toe
(i) Statistic (i) Given the following data .
‘ o
Commodity I;O 9, P 9
10
4. Answer any three from the following 4 i & : >
questions : 10x3=30 B X 2
were fra Teq fudn where p,, d, Tef€F t0 base period price
T oy orer< Por 3o
_ and quantity ; P> g refer to current
(a) Exp}gm the methods for measurement of period price and quantity. Find X if the
fertility. 10 ratio between _Laspeyrcs’ (L) and
AL A Fiey sz I 91 | Paasche’s () Mdex numbers is
it L:P=28:27. 6
(b) Write short notes on any two from the
following . 5x2=10 were fagr ©yd A
=TS firgy QT gl :
(i) Li Bt o1 o % Py 94
ife tap)e A 1 10 2 S
B 4 W ot - 1 5 x 2
(@) Wholeg : ber
ale price index num .
] p o TS p 7qojﬁwmwwq’ pl’q13
et A s e T I T uen ) x 3
Toss Teproduction rate fefg 4 ‘qﬁ FOCTR L) = W (P)
ST 2 WWW@L:P=28:27?{§|
8A/847 ( Continued ) 8A/847 ( Turn Over )



(8) ' (9)
(@) () Fitatrend line to the following data (i) Define vital events and vital
by the method of least squares : 6 statistics. Compute age-specific
T A oy e ped T RS death rates for the age groups given
@%%m Frfrer 41 ¢ below : 1+1+3=5

Age group No. of Deaths Population

Year
1972 1973 1974
(3=9) 1970, St 0-10 25 1000
Production 10-20 15 2000
(in ’000 tons) : g = = o 3 20-30 5
2, : 3000
S (000 By 30-40 7 2500
(H) CalCUlate the trend values. 2 40-50 18 500
‘ SRR i Brefer 91 oo oAl F O <Ry sqge o |
(i) Estimate the production in 1975. 2 gl ?Ifa WG
1975 9 Seoqrarq sifRer et 41 | 8 AR I
e b 0 i
{ ) Ehat' 18 Sil'l'lple random Sampllngp Wﬂﬂﬁ WW\W G
€ntion two methods of selecting 0-10 25 1000
Ic.landm.n Samples pjscuss the merits and 10-20 15 2000
1+2+7=10 30-40 7 2500
b e {]]% ﬁﬁﬂm 1% 4 W F@?‘f ﬁiﬁw 40-50 18 500
T T T e 91 | TAT TR
2T et e epifRPRR oA |
(ﬂ .
(1) Sh?W t_hat Fisher’s index number
Salisfies both time reversal test and
actor reVEI‘Sal test. 5
NN @ v IR T T
R Bopey TeFH ARrw P
FE
8A/847
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( 10 ) (11 )

(e) Why there is type II error problem in

( ECONOMETRIC METHODS )
multicollinearity?

1. Answer the
fOHOWin 1 . o
w7 i g as directed : 1x7=7
TS et gy T i - i) TS A9 1199 S ey 4w 2
(a : ;
) What is 5 dummy varible? () What is the role of the dummy variables
mm% in a model of theform Y, =q +pD, +U,?

o
- Y, = +BD, +U; RS =81 vows wfiw

&2

(b) The ; ;
®qQuation of the exponential curve is (g) In a time S€ries, heteroscedasticity does

f
of the form Vs _ not occur.
( Fill in the blank ) ( Write True or False )
P G e sl ¥ = e R RoFTeT B g |
(9 What i 2. Answer the following duestions : 2x4=8
Mme Series? i WWWWWZ
FreTCE: .
Lt (a) What 1is seasonalisation of dummy \l
variable? \
81 v LT T R o a0

(d} If R2
valye
Ue jg Very high and most of the

indepenq
e 08 il
n Varigbles are insignificant, (b)

then What ., . Draw a fg"° showing positive and
Will be the problem?

negative first-0Tder autocorrelations.

It R2
I
e T %% s om DRI Ol aﬁﬁawwﬂﬁﬁﬁwwwm o
A, s ol TS
» TR s s IR A2 S e T e 51 Gt |
8A/847
8A/8
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(12 ) (13 )
{¢c) Menti A
iy On two limitations of the method of (c) What is a dummy variable trap? How
18 averages. can we overcome it?
P TS afq iy el SCEd I | &9 veres T A 152 T wnfi R e
<faq #Med1 ?
(@) Name problems that arise in the (d) Describe briefly the Koyck model.
estimat; TG
W Mation of , jinear regression model, Koyck SIfZP! S Al
en the assumptions of E(y;)? = 82 (e) Calculate ﬂif'ee'yeaf moving averages
fnd E(ui U:)=Q are violated for the following data and comment on
o1 T 4 ' the results :
R TN i SR TR =3 wore g 99 I FoR-Tefim vorg o s
E( kKl w, @fa Ew)? =5° == zq] o T 87TS Torre fiyy
Uius) =
F 4 ) = 0 Sfsirgay w51 T 571 =W | Year (7%9) : 2006 2007 2008 2009 2010
3. Answer oy Production t 21 gpiiag’ g5 24
SEER hree of the following : 5x3=15 (in ’000 tonnes)
°1! e Taq o : B (1000 57°)
(@) Explay, i Year (759) : 2011 2012 2013 2014 2015
| Probler, Nefly yarious reasons for the Priisiin = 29" SO b
o Ol mu|ticollinearity. (in 000 tom,1%:;})_ :
ST SR BT (000 BT°
i) Mg fAfed IR AHE TIF
0 & 4. Answer any thre€ of the fOllowing : 10x3=30
@ o R G feffdl 28 O
Distin g, ' method :
guig a) Explain the % s of detecting the
models. h betvveen AOV and ACOV ( ) muﬁﬂcollineaﬂw pProblem in a linear
regression mOde_l_ What are the
pa e f w1f¥e cemedies for MWticollinearity problem?
WW@% i TR a5y e TR wf¥e qeg®) T
| =i s S VIR 9 IfSar ST
1| TR TR T R TH SR
| 8A/847 ' e
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(14 )

(15)
t squares in
thod of leas e oW,
in the me : Series.
¥ lain of a time ol ah
(b) From the following information, test the 1] ixczsuring trfizldtrend be determined:
autocorrelation : can exponen o ofg?g
%%Emwwmwﬁwwt o fe o i QT
o) ; S 4 | TR
Nilgy o 3o 56 0
}’:2458101214 SRR
The €steq model for the above * Kk x
observation is Y, =1 .2+o-6Xt.
Sy R UMW W@ﬁﬂﬁﬁ ElEe) R
Yt =1 2+0'6Xt-
(c) Why ; € Study of time series usefy]p
Discuss eV ariols components of a
time gey
TR T Ry JRAY? PR Ry
St S
(@) Brieg

SCuss ¢he importance of the

adaptWe e €Ctations mode]. What are

€ prop EMS o ced . in estimating the
Mode]p

g W@W%W
g‘@“’%mﬁmw’rﬁﬁmw

(e) EXplajn the Partj] adjustment mode].
RIGE

%%WW’
A/847
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